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Topic:- Child Development & Pedagogy (CDP)
is associated with retardation in various aspects of development /
ﬁma?ﬁﬁmmaﬁﬁmﬁrﬁr%l
1. Medium Intelligence / HHH g@{
2. No Intelligence / aﬁ‘s‘ Tg'@ '_'I_eﬁ
3. Higher Intelligence / 3=d Tg’@

4, Lower Intelligence / HG @

Correct Answer :-

. Lower Intelligence / HG gfg

2) In child centred education, what the child has to learn should be | STA-Pied Rrem ﬁ, T

DI oIl TG A1fe Y, 98 TR SieT a1ieu:
1. Judged through activities Afafafda o A
2. Judged by the scores of their test results/3Tch TRI&T TROMH & il §

3. Judged according to the ability, interest, capacity and previous experience of the child /]

i, B, & SR s d 3yd & AR
4, Judged according to the previous experience of the child a & Usd 3{JHd & SR

Correct Answer :-

« Judged according to the ability, interest, capacity and previous experience of the child CEEdl

T, B, e SR s d $ryd & SR

3) Child centred education typically involves: / dT¢l S Rren & ema IR W v wnfire
E.'HT %:

1. on the spot assessments/Xd T Hip R HedTp
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2. no Assessments/dIg Heih ol
3. more summative assessments/3{(9d WW

4. more formative assessments /3{{ TTTTHD J;L(’Hid)"l

Correct Answer :-

« more formative assessments /(S TIATHD g

4) Which of the following are features of progressive education? / ﬁ'ﬁﬁf@—d ) aﬁq:\rﬁ

wTfaite fRign i fagivang 32

1. Instructions based solely on prescribed text books / BEREENAREIEGRYIED] W R 3T
Gk

2. Flexibility on the topics that the student would like to learn/3 TaWTT TR TR (URifRTISTeIeY)
Sl BT YRe 9% &

3. Emphasis on lifelong learning and social skills/Sfia= TRi= SIfERTH 3R WM S TR SR
CEIl

4, Emphasis on scoring good marks in examinations/TRI&SAT T 3w 3{dh A TR IR Tl

Correct Answer :-

« Emphasis on lifelong learning and social skills/Sftae T ST 3R YIS HIA TR SR
CEIl

5) Performance intelligence is measured by: / et '§@ P %1 & gIRT /19T ATt %:
1. Verbal Ability/ AR &

2. Comprehension / JH

3. Numerical Ability / SHTHD &HdT

4. Picture Arrangement / e s

Correct Answer :-

+ Picture Arrangement / SRR

6) "A thing can be learnt by the study of it as a totality" This statement is based on which
learning theory / "Th TIST B HHYUCT & U H sHF A0y A HET ST Ahd1 g 1" I8
S fpa Rramr Rrgia or smutia @:

1. Instrumental conditioning / E?Sﬂfﬂ CARIET
2. Insight Classical conditioning/ el RrufaRa Ul ol (YIRS FATRIG A o=
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3. Trial and Error/ W-ﬁ% fafar

4, Classical Conditioning/ mﬂﬂw (WT@IW HSIRT)
Correct Answer :-

« Classical Conditioning/ ﬁwﬁr@am‘g@? (ERWTW HeIIM)

7) The word ‘consistency’ is associated with: / Xleq «HTHT” '5'\‘]'\& '\‘ﬁﬁﬁ%
1. Personality / oI

2. Attitude / TG

3. Intelligence / @:@

4, Motivation / U0

Correct Answer :-

« Personality / Sfadd

8) The prejudice against a person on the basis of sex of that person is WA i &
R & SR WR, 39 wafaa & fRaeme yalue (wem) glargl

1. Gender stereotype / e Qﬂ\lra;dcs(cil (\;l'SQ Eﬁﬁ?ﬂm
2. Gender bias / SIEIED HeHg (@I?:T EIERES))

3. Gender identity / Qi TETTH (SR 3MSa (S

4. Gender issue / QARIH Hel (@3? Hel)

Correct Answer :-

« Gender bias / aﬁl?f 'ﬁ?.‘[‘l-ﬂa (@'3? CIESES)

9) The smallest bone i.e. stapes in the human body is in the ear. /ATd IXR # GaH

AT " SE S iRl
1. Inner / 3G¥
2. Middle / S H

3. None of these / 37{3[ | ﬁé '_'I_E?f

4, External / dlexX

Correct Answer :-

« Middle /S H
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10) The last stage of psychosocial development is / AT faHT o7 Sifaw == % -
1. Identity v/s. Confusion / UgdI- d-H HH
2. Trust v/s. Mistrust / TG4 S Sfqyr

3. Generativity v/s. Stagnation / 3GIRdI &-[H d&RId
4, Integrity v/s. Despair / 3RGSdl §-H fFRTRM

Correct Answer :-

« Integrity v/s. Despair / 3RS dl §-H PRI

11) The study of same children over a period of time is known as study. / €

ﬁﬁ?wﬁ@%%ﬂwaﬁf%&rmﬁ g & =g H ST
EIGI]

1. Longitudinal / 3G e (@ N&[Se)
2. Cross-sectional / ufaerds (a’T\IJ_\‘:[ W)

3. Latitudinal / 31&T= (A tegsq)
4. Experimental / BRI

Correct Answer :-

+ Longitudinal / 3J¢¥ (A-Ticdsa)

12) Which of the following is a limitation of Eclectic counselling approach? [T d

D TgoRiea TRt R @ (GFfaes sreafent T ot AT g2

1. requires highly skilled counselors to handle the dynamic feature of this counselling approach /

Y RIA DB B TS IR Bt fFafa a1 & fore srafiies wera wmRieransit
&T AIIHAT B & |

2. more flexible approach of counselling / TRTARI T 3feeh ﬁ%‘iﬂw BREIW
3. more cost effective & practical approach / 3AfIH gHTA 3R I CHIRES A

4. more objective & coordinated approach of counselling / R & 34w deg 3R gHfd
BREgL

Correct Answer :-

« requires highly skilled counselors to handle the dynamic feature of this counselling approach /

= IR EDH 10T B T ARwar i Fafd e & fore srafiis e RRiardrsi
B SIS BT B
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13) Which of the following is the best way the teacher can guide children with special needs

in school education? /mﬁﬁﬁq—mmamﬁ?m&lﬁmﬁwﬁ
faRiv smazgwarsit ara gl &1 URieR &Y a@d 82

1. Give higher challenging tasks / 3{{%d> %ﬁl’cﬁqﬁ &1 &
2. Give more tests / e TRI&OT &1

3. Providing support and tips / TgaNT 3R SEUE! G3l|

4, Provide more homework /({8 ‘jSCbIJ dald -l

Correct Answer :-

« Providing support and tips / H‘éq\l‘l 3R LEUE! Gyl

14) Which of the following is an example of a lower order need in Maslow’ hierarchy of

needs? / FRafTRa & @ Hi9 I1 A @) sraxadarsii & ugrgHd § Auaw wH ot
STIIH T BT TP IEIEIV 872

1. Esteem needs / T 1 AR AT

2. Self-actualization needs / 3TH-ITY DI A H AT

3. Safety needs / GR&T b1 SAIDH Y
4. Love and belongingness needs / @R Ud 30U &1 TaIHATT

Correct Answer :-

. Safety needs / Y& P! SAIHAIY

15) Which among the following types of intelligence would be most used when trying to

navigate through traffic? /ﬁgﬁlﬁﬁﬁﬁmmaﬂgﬁm:ﬂ!ﬂﬂ, YTATATd & HISHH
¥ Afae B B DI HIa T8 fFHar smgm?

1. Naturalistic intelligence / quﬁad’)dlcz\l gi&
2. Spatial intelligence / Wg@

3. Interpersonal intelligence / Sfadafdas §@E
4, Emotional intelligence / Wg@

Correct Answer :-

« Spatial intelligence / EIIGE §@

16) A child receives a star for every correct answer she gets. What reinforcement schedule is

being used? / TP Fet Bl g Tl 3R & foTU TP ©R fiadn g1 ford gedtwvor st
BT YN fohaT ST XET 72
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1. Variable ratio reinforcement schedule / TR STUId ﬁ_%é@@l W
2. Intermittent reinforcement schedule / S{cRTRI® {E@QIWUT W

3. Partial reinforcement schedule / 3{{RTeh '\ERE‘?'WUT w

4. Fixed ratio reinforcement schedule / 3T STUTd {'L‘EG‘\IC!NUI 31':_1,{j\tlnl

Correct Answer :-

« Fixed ratio reinforcement schedule / Ff3d S{UTd {j‘EGhIONUI W

17) One of the characteristic features of a Constructivist unit of study is that: / /I 4|

TS FATHGAIAIG 3PS DI U a2yl 95 g fob:

1. It starts with what children know as an effective departure point for the lessons. /SEeb! R[>3Td

T gidl ¢ b o= u1e & foie ues guret u fofg & &9 @ oiHd B

2. Tests and assignments are aimed only at assessing the lower order thinking skills. / SIE) (é@

3R FOd SR (SRTETHT) BT IR Had (Y TR TIF DI BT 3N BT I g

3. It is propagated solely through teacher instruction. /48 qpfa: e & Mdw & ATeaH 9§
T fora STar B

4, Asking questions is discouraged in the learning process. / Y Y&l SHfATH @t ufchar d
FRA G

Correct Answer :-

« It starts with what children know as an effective departure point for the lessons. ERSCl R[231d

Y il ¢ o 5= u1e & forw ues guret Ui fofg & &9 om oiFd B

18) Reading skills can be best developed by: / U P B EX) uferar gRT 9ad 33t
e fawRa far o awar g:

1. Writing answers / 3T [erg1
2. Playing word games /doing quizzes / g8 T WaHT / foel &

3. Focusing on the use of words in the text / U3 H Usal & IUTNT TR A PHigd BT

4. Doing vocabulary exercises / eqTadl! S Al

Correct Answer :-

« Focusing on the use of words in the text / Uld T eal & STIN IR A higd BT

19) Irrespective of the kind of impairment, all children are capable of: / o3t voR oI

quar ¥ grave, 9 7= g A gam g 8
1. Movement / T=|T‘Ief
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2. Hearing / ﬂ:ﬁ
3. Learning / ESGE]

4. Seeing / YR

Correct Answer :-

« Learning / e

20) What are inborn patterns of behavior that are biologically determined also called? /

AER & ST Ue wil sha-fage & gaR FuiRd 81d €, 3= g8 M serare:
1. 1d / UgEH

2. Drives / S13d

3. Instincts / Hg ol I

4, Intelligence / Q@Iﬁ'ﬂ

Correct Answer :-

« Instincts / Fg©l AT

21) What are the symptoms of Post- traumatic stress disorder in children? [a=dl H ugy-

3T 9419 fAPR (URe erifes R fEwsiisr) & e w82

1. Avoiding places or people associated with the event./ ¥l g @ Y1 1 ART 9 T2

2. Having to think about or say something over and over. / §R-dIX $&d Fe T 39D IR |

T
3. Not have an interest in other people at all. / §¥R-|' H ﬁ@'_d | Bﬁ‘ﬂ

4, Becoming annoyed with others./ g4 3 AR T

Correct Answer :-

« Avoiding places or people associated with the event./ ¥l q \_{],@; YT A1 A S

22) What type of theory is one that proposes that development depends on things that are
inherited through genes? / o TR 1 Rigid 9% Uegd Fean 8 & i S9 9=l ©®
Rk Fvar 8 it S & w1eaw | 93N 82

1. A deterministic theory / b fAafdare Rigid

o

RIgid

2. A social theory / Uch eI

o O

3. A nature theory / Uch UIp[dch RIgid
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4. A nurture theory / T UTeH-190T Rigid

Correct Answer :-

« A nature theory / WW Rigid

23) What type of thinking is associated with creativity? / foa goR o1 fiaa '\ETIFITZﬂﬁT'IT °

Haferd giar g2
1. Convergent thinking / STHIRY A

2. Divergent thinking / 3{cfi] i)

3. Insightful thinking /3fTE® WId (FTATZCHd [ATHT)
4, Transductive thinking / IRATS H (giHSI?COI ﬁfﬁv_ﬂ)

Correct Answer :-

« Divergent thinking / 3{¢I{] BIE]

24) Who introduced the theory of Universal Grammar in language development?/ HTHT

e # gfadde R & Ricgia o f5u v foar
1. Piaget / fOTS!

2. Vygotsky / CIEUIRE:]

3. Skinner / RHR

4. Chomsky / P!

Correct Answer :-

+ Chomsky / DI

25) Intelligence is a product of both and environment./ g@'ﬂ?ﬂ, Gﬁ?

TR Il 1 U IdIE gl
1. Culture/m

2. Community / SHaIT
3. Heredity/ 3fTJdfRIehdl

4. Society / JHIS

Correct Answer :-

« Heredity/ 3ITIdRrebdl
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26) The Minnesota Paper Form Board test is a test which measures one’s

./ FIIeT UR Td 91S wiler, Te aigu g s fsfi &t SI Amgan gl
1. Verbal Reasoning/ A& T

2. Aptitude/ I

3. Personality/ Sfddd

4. English Skills / 30T DI

Correct Answer :-

. Aptitude/ IRl

27) A student is asked to find different methods to evaluate the value of pi. This would mainly
involve which of the following operations? / WW@‘?@I’I@'%W ﬁrqymmmﬁ &
fere fafirs womeht &Y 317d 1 & o weTomaT 81 399 g wu A FufifRa A o=
AT ITIRRI XA §RIT?

1. Evaluation / Fcdih

2. Convergent thinking / SYORY fidT
3. Divergent thinking / 3R] fdq

4, Learning / SffENTH

Correct Answer :-

« Divergent thinking / 3R] fdq

28) Classical conditioning was developed by: | TS oI (ﬁRTIﬁI'@?I
WG a1 ety rgae) e 7 @ fad gr1 faw e fear man e:

1. Bandura /é’UgQT
2. Pavlov / UTdelid

3. Kohler / W
4, Piaget/ﬁm@f

Correct Answer :-

« Pavlov/ GG

29) Selecting specific stimuli through sensation is a characteristic of: / TdeT & HTeHH |
fafRy IEu= &1 79 FA &1 sfraeror 8

1. Attention / 3{d¥Tq
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2. Critical thinking / TTg- IEGE
3. Concept / SIAYRUI

4, Perception /@fﬂ

Correct Answer :-

« Perception /alf‘é[

30) Animism is the belief that everything that exists has some kind of consciousness. Which of
the following does not describe the idea of Animism in children at the pre-operational stage of

development? / AIHdTIG U8 fayrT 3 fF ot $o ot Hiv[g & SuH fonelt upR &t =

21 Fafafee ¥ @ = oo & yd-ufareq R R =01 § waferae & foar &1 9vfe

TEY BT B2

1. A child who hurts his leg while colliding against a chair will happily smack the ‘naughty chair’./
TP T S U Huf § <hrid §U 30 R &I e Ugardl o, RN F YRR Fuf BT Ydbd
& |

2. A child dresses up as ‘fireman’ for a fancy-dress competition / et \gﬂ gferaiar & ﬁ‘l'q Uch
T BIEREA & %0 § R g1 g

3. A high mountain will be thought of as ‘old’/ Uch &9 Udd Bl ORI HIAT ST

4, A car which won’t start will be described as being ‘tired’ or ‘ill’/ Yh PR o "{J‘R?'_‘Iam
ST I T G3HT T SR TR Se |

Correct Answer :-

+ A child dresses up as ‘fireman’ for a fancy-dress competition / Tl gﬂ ORI & forg T
2\ e D Y
F BRREE & T4 H R BIT 5|

Topic:- General Hindi (L1GH)

1) YT MAS & T S8 U TR BT 91y it
IE SATATST Y&X HHGR HIat gs A

q€ GBI TS H1 BT WIS &

1 I9PT RIsq

g1 Yqd gaex HRam 31 911 gR &1 BIS R
RS MAH B TR |

% AT ISt FrerTaT S € Ui S 9

S 99 ¥ DI Afed aFl & Sire o

Gl g1 g @

T 37 TR B AradY
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AT ST § Hewdl §3MT U 318G |

T WTAPR & TS B TUTA TTa1 8

ST TREAT 81 48T Ma® &1 TS geT goiT Jra
SRt 39 TS T 81 ST qau

W9 g Tifiaar

TR | 9 o T & JHBT Tl

UROTT WY BISe §5 SNITE 31 el T

STATS | I o1 O R g

T} IRe1 TS B STed ST

FEI A TAT T § ADR $T W

FR-F N ag A €S TN ITPTY

g g & forg fs a5 srpean 181 @

3 g T by A AT o wpar g

T ST b7 IAT

3R SHST SaTe # S U feaes Wi TS &t ©
T 37 TR B ST 1 I6™ B &l SR8

I fawerar 81

IS ASHdT GHST ST I T

3T 71T gEriw A1 ygHx A U 9M 91e URA $T Sk ga1zu|
TR: TR ATY BIST §S vvvvvnn. 3 ST §IHT, T UTHT H HI-HT Weg 751 02
1. I8

2.9%

3.

4, W}

Correct Answer :-

2) GSI TS & TgMH A YR TR BT 91y St
IE AT YR FUWR Pl g3 N

I8 GBI TS PT BT 4TS ©

1 39PT Ry

T Ued Ia®HT G 3 9761 gR BT B RIAGR
TR TS I IR |
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g 31Ut I fAraraT 3 & urei a9

TS Wd X DI AT qrl & oiTed |

Tl gPI g g

T 3T T B ATTDY

QAT ST § Yeddl §311 U 315G

T AIADR 1 WIS B U @l &

ST AT 81 YRS AP BT U geT g qrEH
Rt I 91E fearan 81 SuT s

w9 9% ifafear ar

TRAES § I §S Tl § SHBT Il

RO 1Y B! g3 STE 31 glal g3l

STATH A I oG $ FRar gsn

At IReT IR B eTew FeTan

FEI T TAT AT § TTADR BT WR

Pt a5 9f €1 S YT 3 ST Y

Tg g1 & forg for a5 spar 1E1 §

3R 7g & R A s wwar &
TITT ST BT I

3R SHST AT # S U fea W YIS &t 8
T YA TR B ST 7 3G Bt SN BIRIR§

I fawerar T8t

IS ASIAT GHSIT ST IeT

AT 7T Uiz 31 ved HiY TR WM a1d R $T 3@ Ja1sul
TIH: 98 Ugd Tads WG 3T aTaT g3 1 F1 81 Tl 82
1. PIg WNAPR

2. BIs RAGR

3, HIs DAL

4, BIS HATDBR

Correct Answer :-

- B3 Reder

3) T TS F T o U TR BT A1y el
T SHTIT Y3 ISR BIaat gg A
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qE T TS BT BIET HIg &

1 39PT RIsq

1 qd T HrEm A 911 R 31 B8 RIAgR
QT TS I IRA |

T S IS firaraT o g yRie wra &

S 99 3R DI Afed aFl & SiTe o

Tl P g

T 3T § TR B aradH

QT ST § HeHal §3i1 U 3Fge o

9 WAPR 51 TS DY AT 381 8

ST FHEdT 81 YR8 Mw &1 T geT goiT qrar
SR S 1 faaTan 8 ST e

W9 qg iR o1

TRATE § o9 96+ T § SHBT Tl

UROTT 1Y Bl G5 SNITE 31 el T

SATATS H IRF SHIT & Rt gan

At Te1 TR B eTew e

H1 | T T 8 FTAPR BT TR
Ht-pft a8 4 €1 3 Ia1 8 SHSTAIY

g M & forg 1o g srepen 781 @

3R T T e A a5 et ¥
TIRIT ST GHT IR

3R ST SATaTS S T feares /I 1S &t ©
T (U TR B AT 1 36 B &l HIRTR 8

I fawerar T8t

IS ASIAT GHST ST AT

3T T gEriw &) yews R U WM 91e URA &1 3@k 9a1su|
W: RIT 1 7Td T 98 S HedT § T TAS T We Pel gorl..... ?
1. 9IHH

2. gRomH

3. 9

4, 3

Correct Answer :-
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4) TSI A & T o U R BT 01y It
IE AT ¥ FUGR IOt g3 A

T8 T A BT BT IS §

1 31 R

T Yo TaD WG 31 11 g1 BT D15 RRAGR
BT MAS B TR |

9% 31Ut [ frarar oman § yiA w1 @

TS 99 3R BT Afed aFl & Sire o

el CaldnIn

T 30§ TR B AraDHR

AT ST § HedHdl §3IT TP 3Fge o

T4 WAPR 81 TS DY YT 3841 8

ST AT 81 G TS BT IS Qe gl Ara
ORI 39 TS Tt 81 SHeT SauT

9 qg iR o1

TRAWS § I 86+ Tl § SHBT Tl

UROTT 1Y BISeH §< SNITE 3% Tl gl

STATS & IRG T & FRar ganm

At TRe1 TR B eTe™ JeTar

FE A TAT AT § AR PT TR

it ag ai €1 a1 8 TP ATY

Tg g1 o o b g arcber 1é1 @

3R Tg 1% b & vy ST wBaT §
TIRIT T gHT IR

3R ST STaT ¥ S U foae /I gATS ot 8
T 3T TR B A1 1 36T B ol BRI §

I fawerar T8t

I GIEAT GUSIT ST AT

fau 1T veriw &1 ygws A U WM 91e URA &1 3@k Ja1gu|
U= Y& S P T Tl TIADPR Hal o gaT 3Tl 82

1. 9
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2. BUS
3.eled
4, HE

Correct Answer :-

5) T AP & TS o YR TR BT |1y el
IE ATATST Y3 HIUGR Proet g5 ANt

q€ Y T BT BT WIS &

1 ITPT RIsg

g1 Yqd Ty dram A a1l R BT B8 RgR
TSI MAS &I IR |

Ig AU I FraTaT S § Ui S o

MRS &9 3R DI Afed aFl & SiTe o

felk IR

T 37U Gt T B ATgdY

AT STl & Yehdl §3i U 3Fgg A

T4 WAPR & WITS B YU IgaT &

ST FHEdT 81 4381 Ma® &1 T geT gaiT qra
SR S UG e g ST uu

W9 g e 4

TRAWS § 9 85+ T § SHBT Tl

UROTT WY BISeH 55 SNITE 31 Tl T

STATS | I o1 $© RiRar gan

Tt 9= TR Bl eTe JUTan

H1 A TAT ST & FIAPR BT W@

- HW 95 91 €1 3 TaT 8 SUPTHIY

g gar & g & a5 spen T 8

3R TE b e & rar o A @

T ST BT IAT

3R SH@T SHTaTe S U feae Wi TS &t §
7 TR TR B ST T IoM P ol SR

I fawerar A8t
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I AT HHST ST AT

3T e v #1 vew R U@ 9M 91d U o1 S@x Jarstl|

T BT AP $t RS § 98 3011 I Ha o frerar smar g2
1. YTl &1 §

2. GBI A

3. AMYFF BT ¥

4, GARIE DI I3

Correct Answer :-

. TR Y

6) TSI AT & TS oI UK TR BT 1Y Iait
IE AT R FUGR PIaat g3 N

€ TSI 0 $T BT IS §

1 ITPT Rrsx

71 Yad gaer drEm 319 911 R 61 B8 KGR
BT TS I TR |

98 (U=t ot fArara eiman 8 i e S

TS WG 3R DI A qT & ST |

felk Cal T

T 377 § T B AT

AT ST 8 Yeddl §311 U 38 A

T4 ETABR & TATS BT AU 5T §

ST Tl §) YRS MRS BT Ui et e |rE
SR 39 91G feaman 81 SHe! =

W4 95 =T a1

TROw® § 9 §5+ TT § SHBT Tl

TIROTT 1Y BISell §5 ST ¥ Siell gl

3TaTe | IRG IGT $© FRar gam

At 41 T B gTew Fear

FE A T AT § ATTBR FT TR

- HW 95 91 §1 & TaT 3 SHPTATY

T 9 & frg o a5 srepen 161 2

3R 7e 3 fpe & T s wHaT §
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TTGT ST YT I
3R S JTaTet # S U foae A1 TS &t 3

T 3T TR B HAT 7 36 P ol HIRET?

I fawerar Tl

ITD GJEAT GHST ST AT

3T 1T geriwr &1 ygwR A U WM 91d URA &1 3@k Ia1gu|

T YOT TP BT BT ATaTS F AU FASR B ST G STl 22

1. AR
2. gy

3. U
4. TS O WIS

Correct Answer :-

. TEH O W

7) G981 TS & T o YR WR BT 61Y it
8 3T Yax AR Higdt g§ &

9 G T BT BeT WIS &

1 ITPT Ry

71 Ya I HRE 3119 aTell X T BIS KGR
TSI TS I IR |

Ig AU It FraTaT S § Wi Fre |

S &9 3R BT Afed a1 & SiTe o

Tl gHI AT g

T YA § TR B ATaDHR

QI ST § Yeddl g1 U 3Tgg

9 HTADR 31 TS DY YT g1 &

AT HEdT 81 4331 Maw &1 T el goiT qra
o S9 UG e g ST uu

w9 a5 =faf@ar ar

TRAWS § 9 86+ T § SHBT Tl

UROTT 1Y DI 55 SNATE 31 el T

SATATS | IRF ST & Rt gan

At TRe1 IR B e Te Fear
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FET A TAT 37T § TTIBTR BT TR

FftF i m A SIS IaT s SHPTHIY

g gam & fore fos ag e =81 @

3R TE o e & 1T &1 par @

TITT ST BT IAT

3R IS 3TaTet W) U feaes A1 TS e @

T 3T TR B ST -1 I B &l BRI 7

I fawerar gt

IS ASIAT GHST ST AT

3T T vEriw &1 yegws A U 9M 919 URA $1 I@R Ja1zu|
U: WAPR & A A Fid fHd UeR & safwmal o iR dod $I/T5?2
1. 1Y T 91 bt 3R

2. AU H T@H GRYH B a1l Bl 3R

3. T HaATdD] Bi 3R

4, FOIH aTdl BT 3R

Correct Answer :-

o A0 T IEH IRYH H AT B 3R

8) BT O & TEM oI UIRT TR BT AT el
IE AT YR FUGR IOl g5 A

T8 GBI TP T BIET WK &

1 31 R

T Uqd TaHR WG 3111 1T g1 BT H1g RIAGR
T MAS B TR |

9% 31Ut [ Rrarar oman &y w1 9

S 99 3R BT Afed aFl & Sire o

el CaidnIn

T 30§ T B ArgH

QAT STl § Weddl §311 U 3Igg o

9 TIADHR € RITS BT TUTS g1 7

ST FHEdT 81 981 M &1 9IS FeT gl Ira
ORI 39 TS Tt 8 SHeT gauT

w19 98 @ ar
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RIS | S S AT § SHBT el

RO ATY DI g5 SATG 3 BiaT gl

TaTel | TG ST $o RRar gan

T G- T FY eTe JUTan

FE! A TAT T § AR BT R

Fft-w it a5 9 § 3 31 B ST ITY

g 9 & forg fs a5 srpan 181 §

IR g fo5 e A T ST wwar @

T ST BT I

3R ST SATaT S U fgares Wi grs &t 8

T U TR DY ST 1 ST B ol DI §

I fawerar T8t

IS ASHAT GHSIT ST I8¢

T 77T geriw o1 ygws i U oM 91e U=A 671 3@k Ia13u|
TR TS 30§ TTH B ATaPHR HTHdT oIl Hal aal STl a?
1.U% 3A8c H

2. R Y 3T

3, 0 & 9T

4, YT 3T

Correct Answer :-

. U 3Fga

9) B S F TEH S U} TR BT /1Y it
IE TS R HHER It gs A

a8 Y AP BT BT HIS &

1 3qPT Rrsq

1 ed gD WA 3119 aTell g1 $T HIS RIAGR
TR T B IR |

I8 U=t o1 FAraraT 3man 8 i e S

S &9 3HeR DI Afed aFl & SiTe o

Gl g Fiar g

T 37 T B ArahY

AT STl & Yeddl §3i U 38 A
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T FTAPR §1 TATS T HUTS 351 8

AT THEAT 81 4331 MRS BT Ui FeT golT ara
SR 39 1S fearar 81 SudT saud

9 qg iR o1

TRAWS § o 86+ Tl § SHBT Tl

TRUT 1Y BIS §3 SITE 3R gal gl

AT & TG T & FRar gan

vt TRe1 TR B eTe FeTar

FEI A TAT ST § HIAPR BT TR

P 95 91 €1 3 YT § SHPT WY

Tg g1 & o o g arcbe =1é1 @

3R 7% b f @ AT ST AHar @
TITT ST BT INT

3R I Taret F Wi U e A1 S A R
T (U TR B AT 7 I B il HIRIR§

I faeerar =gt

I GIEAT GHSIT ST AT ¢

3T 1T geriw &1 ygw A U oM a1d U=A &1 3@k Ja1gu|
T S TP S B Sifed arl SR TaTdl § Wi SraT § df WaeR fas U Iga1 82
1. QIR BI

2. I B

3, TR B

4, A B!

Correct Answer :-

o A DI

10) T TGS & T S HIRT TR BT 1Y el
T8 TATe YR FAIR Higat g5 N

I8 G TS ST BIeT WIS &

1 39PT Ry

1 Ugd TADHR G T I gR BT BIs RIAGR
RS AP B TR |

Ig ST+t ot FRrerar 3man 8 urhe o 9
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T W S Pt Afed it & s d

Tl gFI AT g

T 377 6t T B ATIH

AT ST § Hehdl §3iT T 3Fge o

T9 WAPR §1 RIS DI HUTA 351 §

ST REAT 81 U3 M &1 T geT goiT JTar
Rt 39 1S, e B SueT qau

W9 g TiRiear

TRUES § ST Fo1 AT & ST T

RO 1Y Bled! §5 SIS 3 g gl

T § TG o1 o RRargan

A} 9Re1 TS B STed ST

HEI A T ST § WIAHR BT TR
PPN T A TN E ITPTAY

g qa & forg fos a5 srpan 181 §

3R Tg % e & T 5 wepar ©
TITT ST YT I

3R IHP! rarel # W U e |1 1S ol ©
T 3O TR B ST ISH DI ol SR

I fawerar T8t

IIDT TSIl GHST ST AT

3T 1T gEriw A1 ygH i U@ WM 91e U=A $T 3@k gargt|
WH: T & A G T YR H B 39T R Framar g2
1. grIfl g

2. dIfei dTGeh

3. ddlcll digh

4, AP R

Correct Answer :-

11) T TS & g S HRY TR BT A1Y it
% ATaT Y IR HIue g8 AN
8 IS AP BT BIeT HTS &
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1 3ueT R

T Uod TaHT G 3 I g1 BT D5 RIAGR
T AP B TR |

% 3=t I firaraT 3man @ Ui e 9

MRS WF X DI AT qIl & SiTed |

ik Cal T

T 370 § TR B ATTHR

AT STl § Weddl §3i1 U 315G A

T WIADR B VTS B HHTe Gl &

ST THEAT 81 43T S o1 Hi geT goiT Jra=
Rt I 91 fearan 81 SuT s

S g8 =T 4

TRIWS | 9F dS+ AT § SHBT Tel

RO 1Y SISl g3 STE 3% gral g3t

TaTS & TG oI B FRar gan

a1t TReT TR B eTe FeTar

FEI O AT T § TTADR BT TR

FW-F i a5 ai §1 ¢ a1 8 SHPT Y

g gam & fore fb a5 srben A8 &

3R 75 o = & v o wava §
TIT4T ST b1 INT

37 I SfTaTe A S T e W G At @
T YA TR B AT 7 38 Bt N BIRI§

I fawerar T8t

IG®! AT U ST AT

3T 1T veriwr &) yew R U oM 91et u=A &1 3@k Ja1su|
A TS fhast sifea ami & @i <A g2
1. 3fd Pt

2. GG Bt

3, {dd &

4, R P

Correct Answer :-

. SR B!
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12) T TP & IgH S HRY TR BT I1Y St
IE AT YR FUGR IOt g3 A

I8 GBI TS $T BIET WIS &

1 ITPT =g

1 Yed ga®HR YR 3T el gR BT BIs RRAGR
RS MAS B TR &

g AU It FraTaT S § Wi Fre o

S &9 3R BT Afed aFl & SiTe o
el G TN

T 3T § TR B ATaDH

T STl § Ul g3i1 U 3Fgg A

TG WTABR &1 RITE BT U 51 8

ST T 81 4R TS &1 Ui geT g3 AT
SR S TS feaman 8 SHeT FauA

W9 95 AT o

TRAE § 9 86+ T § SHBT Tl

TR 1Y SISl 5 INTE 3 Flall gait

SATATH & IT ST $ R gan

At TR TR FY e Te FeTar

FHI W TAT ST § FIAPR BT W@
FUft-milt a5 o € 2 3a1 8 ST ATy

T8 9a1 & o f a8 e 1

3R TE b e & AT s Awar @

T ST BT INT

3R IS rraret § S U fae a1 s At @
T 3T TR HY HaT 7 S5 B Sl BRI ]

I fawerar T8t

IHDG! ASHdT GHSIT ST I8¢

3T ¢ v #1 vewR AR U@ 9M 91d R 61 3@ 9arst|
v Bl a8 O € o 9am & e S a1 @ SHer Ay
1. fp a8 W S mar e

2. {5 95 s el §
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3.fhagaCH §
4. fFWAR

Correct Answer :-

. T g aparTEl R

13) YOI TP & g 9 YR TR BT 1Y et
IE AT HaR HHGR Praat g5 A

qE GBI A BT BT WIS §

1 3TPT Rrsq

T Ugd IABY UG ST a7l R BT Dlg RIAGR
TR TS B IR |

9% 31Ut I Frarrar oman 8y e |

TS &9 3R BT Afed aril & siTe o

I gFIEAT g

T 37U A B ATgH

QAT STl & Yehdl §3i U 38 o

9 TABR & TS DY T Tga1 &

ST HEAT 81 48 M &1 T el goiT qTar
SR 39 91E fearar 81 SueT 9

W9 g e o

TR & 9T o T & SHBT Tl

RO 1Y Blgdl §3 ST 3 Blar g3

ATATS 3 3G ST $© FRar gan

Tt =1 T Bl eTew SuTan

FEI & T T § TR $T TR

Fll-d i ag ai €1 2 a1 8 IqHTAIY

g gam & fore f a8 srben 78 @

3R 9 5 R A T ST wear @

T ST BT IAT

3R IS rraret § o) U e A1 s A @
T 3T TR HY H41 1 S B 5l BT ]

¥ fawerar =gt

IS ASIdT GHST ST I
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3T 16 usriwr o1 vew A g 9M 91d Uk &1 3@ 9a1su|

TR WIADHR G-I TS B §9- & Sifaia iR & a1 faarar 82
1. 9 &1 Sa 95 Tfafear a1

2. TTH A DR ol

3. SIS STl STl T

4, 5§ 9 Wadm YT

Correct Answer :-

. 9 e o9 a5 TR ot

14) YT S & g S HRY TR BT A1Y St
IE ATATS Y3 HHGIR et gg At

I8 ST TS $T BIeT WIS &

7 3HPT Rrsq

1 d 9aHT WG 3119 aTell R 31 BIS RIAgR
TS MAH &I TR |

Ig 3T+t ot FRrermar oman 8 Ui e &

TGS 99 S DI SAfed aFl & S §

eIk CalEI

T 37U Gt TR B ArgH

AT ST @ Hehdl §3IT TP 3Fge A

9 WTAPR &) TITS B TUTA g1 8

ST FHEdT 81 48 M@ &1 T geT goiT Jra
SR 39 TG feamar 81 S¥@T =

W9 97 iRiear 4

TR | o o T ¢ JHBT Tl

RO 1Y DSl 58 INTE 3 Fell gait

TaTe | TG o1 o RRar gan

T G-I T P FTe JUTar

FEI A TAT AT § HTAPR BT TR

PP ag A € S T ITPTY

g g & forg fos a5 srpean 181 @

3 g & e A AT s wpar g

IT™T ST b1 INT
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3R IS} SiraT & Wi U feaes A s S @

T 30 TR BT ST 1 I B &Il IR 7

3 fawperar gt

ST AT THSAT 1 AR

3w e usrizr o1 vew R U@ oM a1d R o1 S@R 9arsul|

TR: 3T ¥R DI ST 1 ST B 51l PIRARA 7 S T 61 AW ST A2
1. IYBT ASHUA

2. IS ARIITIH

3. SU@T §IHUA

4, IYH! fatherdr

Correct Answer :-

. 39! fawmerdn

15) EI TAE F g o URY TR BT A1 el
IE AT YR FUWR Pl g3 A

qE T TP FT BIET WK T

1 3u@T R

T Uod TaHR G 3 9T R BT D5 RI|ASR
T AP B TR |

I% 371t [ Frarar oman 8w Fre |

TS Wd 3R DI Afed aril & ST |

el Cal T

T 37U TR B ATIDY

AT ATl 8 Yeddl §3i1 T 318 o

T WIAHR 1 WIS DI HHTe QT &

ST AT 8 IR A BT U geT gl Arae
ot 39 TS et g1 SHeT qauT

W9 98 =T 4

RIS | TG dS AT § SHBT Tel

RO 1Y B! g3 SNTE 3% glal g3t

STATH A 3G o1 $ FRar gsn

At TReT I B eTe FeTan

PE! A AT 3T & HIAPR DT W&
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pWl-m it ag 9f €1 ¢ da1 8 BT ATy

Tg 91 & R P ag e T

3R Tg b e & e o1 At @

TITAT ST T XNT

3R SH@T AT ¥ S U fgae Wi TS &t ©

T 3T TR HY Ha1 7 35 B Sl BT ]

I fawerar A8t

IS ASHAT GHSIT ST I8¢

3T TTT geriwr ot ygw T Y O 91et U= 61 IR 915

UL Bfd & YATa® JahR i 3ATareT | Hivlg TS B 1 JHST ST T2

1, D! T
2. D! GRYdT

3. 3P| famadr
4, IGH! THA

Correct Answer :-

16) 3MTS1 Y Yd § PO WY SATHYD Tel 4TI T PHT AR AMHT I A ot i1 39 forzm & e S
FATA € R AT AT g 9gd € A4S § WA F o1 v gd = € wet oft ¥ 71 7 &), a6t Iwe femm
PR-PIP WY fPa TR B THdl? TWA-¢Td d81 & qIga §d YT oI g 1T 3R gUTehH T o1 3Ry &
B 47| BH 3ITHIRM BT 9UiH B &, Y2l BT qui- HRd &, SIATRAI BT quiH Hd & | W Pras oI auid s
el 3 frar 82 Sae § R AT SIS 1N T8 FvaT, Pias @ IRR e g 8, S 39 & 9 §1 e
IR R TS I, T el Y 3T T8 avTar ik S s & R el &1 wery =6 a5 a8
W& guref &, g dewar @ 9 a9 59 391 ¥ Sias § $o o4 died 781 21 Usd 9 Us & Stas T4
T5d Yo 81 TP & TRl R, TR DI SIaTel UR YAl IRR R & BIAd FUST & e g0 99 sias F o
TN WIS HA &1 PATHT AR 1 WSt & yopTe g ) & SR+ & e o) 11 989 1¥e 21 Wil da 99y
WY afe IuH Fias $1, THTY SIH BT M 34T A, O I IHA Fed fag aT G- 81 o &1 W&,
PIgs BT M dd g1 99 778 wrar 21

T8 & PR o7 Pras TEPR IYP ¢PS 81 od ¢, 79 3 fra Gev fomd 1 sarer eft & o 3=
TPhel i IR Usdl §, 99 JUT g W 3 <19 vsd 81 At fpar dial 9o e wwad ok Rien sias
TH-3T Bl §3MT BT ©, 09 96 T2 $O P QAU o] oidTl 3 PIAS BT J§ U $S Y& 11 W 39
TR A 3R 3T Ble-a2 vel Iad &, a9 &9 ARG 3T 3R N[aT fiD W S uefs, Hed TRmr &
IR B G gR-gR aP 3ifhd 3 T T (U HRAT A T DI 3357 84 gl 81 R o9 P warar
@ B HIF 319 g WY, a9 T, 9 U8, 49, 4S, I3 scdlic & Uehig S9 W 3ifPhd g & P! 2T
aﬁ?'s?réleﬁ?ﬁwwamﬁu@mmﬁﬁaﬁa@ﬁﬁzmmﬁm%aﬁqﬁwm
Tefrg 3R i & RE) & 7 Aaftvea  URAT g5 &1 11 siier € 59 $6v o A e 8- v
tﬁ?ﬂ%lGﬁﬂg%ﬂ@ms‘ra‘rﬁﬂ%mﬁmﬁig%ﬁﬂﬁaﬁvsﬁ%ﬁqﬁmg‘ra‘r@ﬁﬁ@muﬁwa@ql

SHUR & T TR B UgwR Y U@ T U= BT IR Iaize|
T W §U BIAS P9 & Usd €2
1. AT
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2. RS
3. P S

4. frdt o
Correct Answer :-

. GWREY

17) 31T Y5 T4 # $O W 3THYP e 47| T B! ARY AHT IR A orelt ft1 39 fomm d e A at
TS & P T AT g 9gd & 413 W F Ry wau o fewm € wet qft it 9 € ), a8 I f=mn
FR-Bd Wt fhaa 7@ HR Jhdl? TWA-3Td 981 & dIga 4 T o 81 T 3fiR guTshH 37 &1 3Ry &
B 1| B SMTHIR BT G HRd &, Gl BT Jui FRd &, AT BT 90 Hd 8 | TR Pras &7 aui Hff
faft A fpan 22 Sas & IR ST B UeiE 98 HvaT, Pras A IR e 8T 8, HUS B o o &1 S0
IR W Has 33, g8 foddt o1 srs1 181 avran ok sAiRie Fire & forg fdt &) Fergyfa 78 et us
9 guTd €, fobg dewar @ 919 df g9 38T b Fras § oo 4 died 78 81 uga O 98 % P B3
9gd YR 21 TP & Tl WX, TR B daTal W 3ual IR W & DI $Us! & Y g0 99 Fias & o
TN G B & | FATHT GRN Bt WSt & UhTe g g & sva+i & fag ) 31 9gd v 31 wiel aa 99y
Wt afe Iud Fras 31, TH1y STa &1 M 34T Y, ) I I Feos fag a1 G- &1 o g1 R &,
PIIS BT =19 A B 9 fa1s F1an B

T4 F fPIR old Fas GEHR ITP <P 81 od g, 99 d fra Yo fewd €1 warer TRt A wie 3=
THSI H N TSl §, 79 GUTT ¢ TN 9 ¢1E Usd & | 741 fpR diel a& wia waad R e sias
TH-¥T HdT §3MT ST ©, T9 96 T $O W G o] S1dTl 3H PIeIS BT J§ U $S Y& o1 W 39
TR I 3R 3 Bie-aS el Ted €, 99 I TR 3t 3R o1 1D W I uehig, Hen TR &
T P AR gR-g¥ ab 3ifhd 3 32 IR U1 HRAT o oA B 3551 g gl 81 bR STe Frars warar
@ R FHH 319 8l 9L, 99 T, 39 ure, 99, 4, 961 3dIe & Ughg 39 W 3ifpd g1d § SuS! =T
aﬁ'\ré’r%I mmwamwmmamﬁmmmﬁm%mmwm
i ik Wl & gl @ A aftvepd & HRAT g5 &1 @1 3fae™ 8 59 $od a@ A foran 8-t 4™
BT 1 TS ST 81 a) T & e a1 Rig & fFaw ik 3o 9 gfta 7 3 ot < @uma ug==n =anfzwi

SR 3 T TR B ugHR N YR T U= ST Sk garsu|
TR: SEA-ST dTGd B B Q2

1. 9 ol

2. BTl I T

3. S T

4. 3RUIHI BT T
Correct Answer :-

. IO

18) 3151 Jag Td H $© WA SATHYUP el AT| T BT AR MHT IR A ot &t S femm A e A «t
HUTE § B AT T g Tga § NS A 7w F Rrw) T g o § gt o i 7 1 @, 76 s famnm
Fe-Hd I fhaa Y $X ADdl? T@A-3@d 98] & aad &d T oI 81 1T 3R TUTehH fo &1 3y &
B 4TI BH 3ITHIRM BT qUiH HRd §, Jdl 1 qui- HRd &, ST BT auid Hd & | W Pras oI auid s
el 7 fora B2 Fae § IR 1o A1 WRig T FRaT, FUs ¥ IRR TS g 8, FUS A 8 o &1 3
TR R P I3, T8 vt 3 ores1 98 vt ok Afre s & Rie el &) weryfy 78 kit 95
wa gurd B, fhg Tewiar & 919 @ 57 397 5 Pias A $© o4 Wied T8 81 Ugd ) U8 1 SIS &1 {0
954 Yo 81 TP & TRl IR, T DI SIaTal TR YAl IRR R & S0 ST & e 50 99 sias o9
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TN WG HA &1 PATHY @R BT WSt & TopTe g ) & sva+ & e o) 11 9gd w¥e 81 B! da 999
W 7 IHH Piars BT, TH1Y SIHY BT I 31 9T, 0 I& arici S fay a1 G-G &1 oI1d &1 W,
PIIS BT M Ad g1 99 f78 Srar 21

T F PR 79 Fias GEHT U ¢hs 8l I 8, 79 J fha- Yer femd 1 wamer Rt & o9 361
THel § RN USdl §, 99 UT g W 3 <19 vsd €1 At fpar dial 9o e wwad R Rien sias
T&-H1 T 531 511 8, T4 98 TXT $© PV GaUIA 161 G111 3 DIIS BT Y8 UM $S I& 911 W I
TR T 3R 3 Ble-a8 alt Iaa &, 99 19 TRG T 3R a1 D U 3% uefrg, Hea TR &
IR B G gR-gR aP 3ifhd 3 3t I 3IUT HRaAT A I DI 337 g4 gidl 81 R o9 P warar
@ B WHIF 319 Bl WY, 99 T, I U8, 49, NS, TH 31l & Uehg 39 W 3ifPd g & STP! =T
3R € B1 3R 7 919 ) Weuwa uTS 3=l W | Fias o1 Ag X oMy & wsd & a9 71 R sifpa
uaferg ok #ivi & Rl & 7l aftvepd & YR g5 &1 1 Si0er & 58 S o A fRran 81-8ar wie
BIa1 g1 SIS [T g1 dt 71 & fpar a1 Ry & fFar o sa9 & gfta 7 g1 &t W Tura uga=n @izl

SR & T iR B ugwR i gD T U= $T S« Jarsu|
TS AW UTS fhurd Aad 82

1. 3R ®I

2. G B

3, UTS &I

4, DS B

Correct Answer :-

. BES DI

19) 3TSI Yog Yd # PO WY SATHYeh g 4TI T P AR AMHT IR A ol i1 39 fezn d e S+ «ft
HHT & P AT UTI Wi 95a & US| vy F e o qd fRmm € wiet ot $h 7 7€ |, asf s =
FR-HP W fha TR B THdl? TTA-¢Td 981 & JIga Jd T oI B 1T SR guterd T &1 3Ry &
B 4TI BH 3(THTR BT 9UiH Hed 8, J2dl &1 qui R g, ST &7 909 Hd & | W Pias o7 auid Hff
) A frar 22 o § W ST SIS URiG 78] T, PHas & IRR Tiel g1 8, PUS A 81 91d &1 39
IR W Fas I3, T8 fpelt oY ars1 781 o iR 3R P & Rie et &) gergyfa 78 et oo
T a2, g qewRraT & W @ o YeH fr atas ¥ oo o Wit T 2| Ted @t 9% R as w14
9gd Yor 81 TP & Tl UR, TR DI diaTal TR 3Ual IR W & S $Us! & e g0 99 Fas & 9
TN WRIG A g1 FATHT TR0 Bt WSt & Uh1e g ) & sva-i & fog o) 31 959 v 31 wiel aa 99g
W afe SHH P B1, TH1Y 1Y BT I 311 WM, df IV arie Fed? Ay a1 GI-G €1 &1d &1 W &,
PIIS FT 9 A 8 9 fore Sran 71

T8 & PR 719 Plas GEIHR ITF ¢HS ol I o, 99 3 fora e e &1 sarer Wl 3 o9 3=
TPsl A WR Usdl §, mm@@ﬂﬁﬁﬁ@u@%%nqﬁﬁﬁﬁﬁ?ﬁwmmeﬁ?ﬁwm
TP-91 thell g3 BT 8, 99 I8 XU T W GAGRA o1 oid1l 36 H1d$ PT 8 U $© Y& o1 W 34
TR A MY =T Ble-as Uell Tad §, a9 i ARG 3 3iR a1 §iss T 399% uehig, 7 TR &
I B aRE gR-g¥ a9 SHfha 3T 3 IRA AU FRaAT A 9 B 357 g4 Bl 31 R o9 wias wura
W B WHIF 319 Bl WY, 99 T, 99 U1, 43, VS, I3 Sl & Uehig 89 W 3ifPhd g & SHP! =T
aﬁ?é’f%lﬁﬁwmﬁmm@mﬂﬁ%mﬁﬁzmmﬁm%wﬁwm
Teig Sk W & fogl & vl AalRvgd & WRAT T BT I 3A6TT 81 39 $6H 9@ | T §1-8a1 U
Eﬁ?nélaﬂas%zams‘ra’rﬁm%ﬁo—-rﬁmﬁig%ﬁr—rﬁaﬁ?gﬂﬁﬁqﬁrqﬁa}xﬁé}@muﬁwmﬁm

SR A T TR B yeHR Y Uw T U= #T IR Iazh|
w: 5 o ¥ g o1 sfaer fiars Sar @2

1. ARYHd

2.39%d
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3. PRI DA
4, qigd o

Correct Answer :-

20) 3(TS1 Yo Y4 § $O WY ATHYS Te 4TI T PHT AR AMHT I A ot f1 39 fozm & arer w7
TATA € B AT A1) g 9gd € 4 § wHa F o1 v gd = € et oft i 7 7 ), aef Iwe femm
He-a3P Mt e Y B Ghd? T@A-TWd 981 & qred 4d YA S 8 Y 3R GUTHH foT B SRY g
B TT| H ATHIRN PTGV R &, Yl BT Ui HRd &, SR $T quiH Hd & | R Prers &1 qui waff
el = fora 22 Fae o IR STaAT BIS WRig T Far, Fus ¥ IRR Tar g1 8, FUS A 8 9 81 3
IR W Bras I3, T8 fbdll &) 31 781 v 3R seife s & fore ot o) geryfa =18 it e
w9 gurd §, fbg dewar & 91F o g9 387 o Pias § oo v Wied 78 81 wed d) 98 [ Fms w1 ¢
954 9GR8 T® & Tl IR, TR $I Sharal TR 3al IRR W F S FUs! F e g0 99 Fas F o
T TRIE Hd & | ST @il B gt A UHpie gU ) & sva=il & fog ot 391 9ga wie 1 wiet dd aug
W} 9 IHH Plars 31, TH1Y I BT I 31 9T, 1 IV aridi S fay a1 G-G &1 oI1d &1 W,
Pias BT W Ad 8§ 99 fwrs wran 21

T F PR 79 Fios GEDHT U ¢hs 8l I 8, 79 J fhas Her i §1 warer Redt 3 o 36
THSI H N USAl §, 99 GEIT U TR 9 ¢1E Usd ¢ 1 781 forR diel o wia v iR e sias
TSH-H1 el g1 BT ©, 94 I8 TXU $O $U GaURd T8I 81all 3 SIS $T UE UM $S J@ oH W 34
TR IO 3R 3T Ble-g3 velt gad €, 99 @9 g M) 3R 3iaT1 fiy T 37 uefls, e ufkmn &
T P TG gR-g¥ ab 3ifhd 3@ 32 IR U1 HRAT o oI B 35571 g gl 81 b Sie Frars waran
@ B WHIA 319 B oY, 99 T, 3 I18, 49, 4S, IHY Sdiic & Uaiig S9 W 3ifPHd g & STP! 2T
aﬁ?‘e"r%laﬁ?ﬁwmﬁmﬁu@mmﬁﬁwﬁﬁammﬁm%aﬁﬂawm
uafrg 3R Wi & Rl & wF) afdved S YR g5 &1 11 e € 30 o6 o A e 8- vie
?h?n%lﬁas%ams’rﬁﬂm%ﬁ»——lﬁmﬁig%ﬁﬂﬁﬁﬁﬁﬁqﬁaaaﬁﬁ@mﬁwml
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T FATTHT NN B) UET B UHTT §U SRa-1 & oI HIF-T WM URE 3Tl 82
1. geobl STIHMT

2. A1 T

3. Grar &

4. PG B AT
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. DS BT

21) 31T Y Yd § PO WK 3TYh T AT I Bl AR AHT IR A Sl ft 1 39 fazm d e S A af
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FR-Hed I fha Y FX Todl? TTA-3Td 981 & qTed 49 T S 8 MY 3R gUTehH T 1 ey &
B TT| §H S(THIR BT qUIH B &, Yt BT 9l Hd 8, STAT=M] &7 9UiH Hd & | R PHas BT quid Bt
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T8 & PR 9 Pras TEIPR SUP ¢S &l 94 ¢, 79 3 fra Yer o ¥ 1 sarer ooft @ o It
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1, THAT 3R P

2. THaT 3R TMarast

3. HgTet 3R adel

4, THTT 37R ey
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. T SR Rig
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SR T30 7T =i B UgHR A IR T URA BT Ik Jaisel
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3, TR

4, IS YT BT
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23) 3151 Y Y § $O WY ATHYD Te 4TI T PHT AR AMHT I A ot f1 39 fozm & arer w7
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SR 38 7T = B YR A YD T URA BT IR Jasel
U fag AT T o B G- 81 o 82

1, JEfCH

2. VIR

3. A R

4, UTp i BT
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24) 31T Yo Yd § PO W MY T AT I Bl AR AHT IR A Sl 1 39 fazm d e A af
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W} 9 ITH Pl BT, THTY I BT 7 31 oM, 9 I aridlT Fed? Ay dFT G-G 81 o1 §1 W,
PIds BT M dd g1 99 foTs Srer 21

T8 & PR 9 Pras TEIPR SUP ¢S &l 94 ¢, 79 3 fra Yer o ¥ 1 sarer ooft @ o It
TPl § QN ISl §, 99 YUY §¢ QIR oY §HE USd 81 98 fHR diel o o9 gaaa ok e sias
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UR: URAT g5 BT GRT SII8TH gl [od g1 BT URT §IelT 82
1. R e

2. BEH UG

3. HéA A9

4, Tpld o@
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. FATE
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@ TR 9HIA 319 8l WY, 99 T, 99 U1, 4%, VS, I63 3dlie & Uehg 89 W 3ifPd g & ST®! qiuT
3T € 21 3R = o9 S AgH ure 3t it & Fias &) Ae B Uy § 7ed & a9 A1 fPaR sifpa
velig ok i ¥ fgl @ wrl Aftvga & wRd g o1 1 305 8t 59 BdH aw & foran - w™
BT 31 P 31 81 9t 1 & fPaR a1 Ry & PR iR 3 @ it 7 8 ot T Ty ug==n il

SHUR &3 T TN Bl UgHR A YW T U= T IR g5yl
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3. A &
4, U0 URMAT &

Correct Answer :-

. A URATS

26) 3TS1 Y Yd § $O WY ATHYS Te 4TI T PHT AR AMHT I A ot §1 39 fozm & arer w7
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ST & B a1 UT1 U3 98 & 9IS | v & Ryw1 T qd 2w & ot ot ¥ 7 7€ &), @t S
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3, I TR 3 3R 3FaT Uiy
4. U9 ARG 3 3R W iy
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o M TRE 31 3R ST e
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3. BN BT
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o 3BT, Gt 3R SR

30) 35T Yog Yd # PO W MY 1 AT I Bl AR AHT IR A Sl ft 1 39 fazm d e S A af
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Correct Answer :-

. WIS W

Topic:- General English(L2GE)

1) Fill in the blanks with the most appropriate preposition in the given sentence.

A learner’s language development infancy three years of age will depend on their exposure
to the language.

1. by, to
2. by, from
3. from, until

4, across, until

Correct Answer :-

o from, until

2) Fill in the blank with the correct option in the given sentence:
After exercising for six hours, she fell down due to exhaust--.
1. ---tion

2. ---sion
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3. ---ance
4. ---ing

Correct Answer :-
» ---tion

3) Choose an appropriate modal for the given sentence:

I expected that I get a high score in Maths.
1. can

2. may

3. would

4, should

Correct Answer :-

e would

4) Choose the most appropriate determiner in the given sentence.
officer in the field has a key to the building.

1. Every

2. Many

3. Some

4. Most

Correct Answer :-

5) Choose the appropriate prepositions for the given sentence:

My mother, having her tea, settled a cozy armchair.

1. before, for
2. 0n, by
3. of,in

4, after, into
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Correct Answer :-

o after, into

6) Choose the appropriate conjunction for the given sentence:

My friend did not play well, did 1.

1. neither
2. either
3. because

4, only

Correct Answer :-
¢ neither

7) Choose the appropriate antonym for the highlighted word in the given sentence.

My father entered the room with an agitated look on his face.
1. Amused

2. Pompous

3. Cruel

4, Serene

Correct Answer :-
¢ Serene

8) Choose the appropriate option that rewrites the given sentence in its active voice.

Suggestions are invited sincerely by me for further improvement of my book.
1. I have sincerely invited suggestions for further improvement of my book.

2. I am sincerely invited suggestions for further improvement of my book.

3. I sincerely invited suggestions for further improvement of my book.

4, | sincerely invite suggestions for further improvement of my book.

Correct Answer :-

e |sincerely invite suggestions for further improvement of my book.
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9) Choose the appropriate synonym for the highlighted word in the given sentence.

Logging causes a great deal of environmental damage.
1. Cutting down of trees

2. Blocking

3. Making log cabins

4, Flooding

Correct Answer :-

« Cutting down of trees

10) Choose the option that best transforms the sentence into its Indirect form:

He said, “God is great.”

1. He said that God is being great.
2. He said that God was great.

3. He said that God is great.

4, He says that God is great.

Correct Answer :-
e He said that God is great.

11) Choose the option that best explains the highlighted expression:
This camera of mine has seen better days.

1. is now in poor condition

2. is new and working well

3. was not working well

4, is good and working well

Correct Answer :-

e isnow in poor condition

12) Choose the option that best explains the highlighted expression:

To run out of mental alertness is worse than to run out of physical fitness.
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1. To have plenty of
2. To be deprived of
3. To be drained of

4, To possess

Correct Answer :-
e To be drained of

13) Choose appropriate articles for the given sentence:

Chief Minister and Prime Minister are attending ____ meeting at 10.00 am.
1. No article required, the, a
2. The, a, no article required
3. The, the, the

4. The, a, the

Correct Answer :-

e The, the, the

14) Read the sentence carefully and choose the option that has an error in it:

I have scarcely no qualms about the rights and wrongs of my doing.
1. I have scarcely no qualms

2. about the rights and wrongs

3. of my doing.

4, No error

Correct Answer :-

| have scarcely no qualms

15) Read the passage carefully and answer the question given below:

Cartography is the study and practice of map making; it is a combination of science of data
collection, data analysis and the art of data representation and aesthetics. Maps help us in
understanding our surrounding better by graphically representing the different spatial features.
Maps convey geographic information about weather, topography, routes, town plans and culture
depending upon the type of map. Early forms of cartography were practiced on clay tablets and
cave walls that depicted the immediate surroundings. With the advancement of technology and
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exploration the maps were produced on papers that depicted areas that various explorers
travelled. Today maps show an assortment and plethora of information. The advent of
technology such as Geographical Information Systems (GIS) allows the collection of spatial data
easier. Information technology has gone through rapid changes, and GIS is one of them. It has
helped various companies and governments institution in their decision making process through
real time interactive maps.

What is cartography?

1. It is a photograph of the earth.
2. Itis a drawing of the earth.

3. It is the study of map making.

4. It is a graph of the earth.

Correct Answer :-

e ltis the study of map making.

16) Read the passage carefully and answer the question given below:

Cartography is the study and practice of map making; it is a combination of science of data
collection, data analysis and the art of data representation and aesthetics. Maps help us in
understanding our surrounding better by graphically representing the different spatial features.
Maps convey geographic information about weather, topography, routes, town plans and culture
depending upon the type of map. Early forms of cartography were practiced on clay tablets and
cave walls that depicted the immediate surroundings. With the advancement of technology and
exploration the maps were produced on papers that depicted areas that various explorers
travelled. Today maps show an assortment and plethora of information. The advent of
technology such as Geographical Information Systems (GIS) allows the collection of spatial data
easier. Information technology has gone through rapid changes, and GIS is one of them. It has
helped various companies and governments institution in their decision making process through
real time interactive maps.

How has GIS helped companies in decision making?
1. By providing real time interactive map features

2. By providing an assortment of information

3. By providing artistic maps.

4, By providing digitally printed maps

Correct Answer :-

¢ By providing real time interactive map features

17) Read the passage carefully and answer the question given below:

Cartography is the study and practice of map making; it is a combination of science of data
collection, data analysis and the art of data representation and aesthetics. Maps help us in
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understanding our surrounding better by graphically representing the different spatial features.
Maps convey geographic information about weather, topography, routes, town plans and culture
depending upon the type of map. Early forms of cartography were practiced on clay tablets and
cave walls that depicted the immediate surroundings. With the advancement of technology and
exploration the maps were produced on papers that depicted areas that various explorers
travelled. Today maps show an assortment and plethora of information. The advent of
technology such as Geographical Information Systems (GIS) allows the collection of spatial data
easier. Information technology has gone through rapid changes, and GIS is one of them. It has
helped various companies and governments institution in their decision making process through
real time interactive maps.

In this passage, “clay tablets” mean:
1. A flat slab of clay

2. A capsule made of clay

3. A floor made of clay

4, A small portable computer

Correct Answer :-

» Aflat slab of clay

18) Read the passage carefully and answer the question given below:

Cartography is the study and practice of map making; it is a combination of science of data
collection, data analysis and the art of data representation and aesthetics. Maps help us in
understanding our surrounding better by graphically representing the different spatial features.
Maps convey geographic information about weather, topography, routes, town plans and culture
depending upon the type of map. Early forms of cartography were practiced on clay tablets and
cave walls that depicted the immediate surroundings. With the advancement of technology and
exploration the maps were produced on papers that depicted areas that various explorers
travelled. Today maps show an assortment and plethora of information. The advent of
technology such as Geographical Information Systems (GIS) allows the collection of spatial data
easier. Information technology has gone through rapid changes, and GIS is one of them. It has
helped various companies and governments institution in their decision making process through
real time interactive maps.

Find the synonym of the word Plethora.
1. Abundance

2. Variable

3. Understandable

4, Legible

Correct Answer :-

+ Abundance
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19) Read the poem carefully and answer the question given below:
Yesterday I got sick

Because of all the germs around me
So I stayed indoor and planned a trick

The thought filled me with glee

On my hassled, hapless mother
Busy making an eggplant dip
Hard at work in the kitchen

With the baby at her hip

Shoo... Get out of here, she said
But baby gave me a smile
So I hid outside for my next victim

I knew I only have to wait a while.

Where was the speaker after he fell sick?
1. At the park

2. At school

3. In the garden

4, At home

Correct Answer :-

e Athome

20) Read the poem carefully and answer the question given below:
Yesterday I got sick

Because of all the germs around me
So I stayed indoor and planned a trick

The thought filled me with glee

On my hassled, hapless mother
Busy making an eggplant dip
Hard at work in the kitchen

With the baby at her hip
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Shoo... Get out of here, she said
But baby gave me a smile
So I hid outside for my next victim

I knew I only have to wait a while.

Who said, “Shoo...get out of here”
1. Child

2. Teacher

3. Mother

4. Baby

Correct Answer :-

e Mother

21) Read the poem carefully and answer the question given below:
Yesterday I got sick

Because of all the germs around me
So I stayed indoor and planned a trick

The thought filled me with glee

On my hassled, hapless mother
Busy making an eggplant dip
Hard at work in the kitchen

With the baby at her hip

Shoo... Get out of here, she said
But baby gave me a smile
So I hid outside for my next victim

I knew I only have to wait a while.

What is the literary device used by the speaker in this line:
On my hassled, hapless mother.

1. Alliteration

2. Metaphor

3. Simile
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4. Onomatopoeia

Correct Answer :-
o Alliteration

22) Read the poem carefully and answer the question given below:

Yesterday I got sick

Because of all the germs around me
So I stayed indoor and planned a trick

The thought filled me with glee

On my hassled, hapless mother
Busy making an eggplant dip
Hard at work in the kitchen

With the baby at her hip

Shoo... Get out of here, she said
But baby gave me a smile
So I hid outside for my next victim

I knew I only have to wait a while.

The speaker got sick because of .
1. germs

2. the sun

3. over eating

4, dust

Correct Answer :-

23) Choose the right tag:

They were late as usual, ?
1. did they

2. didn't they
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3. weren't they

4, were they

Correct Answer :-

« weren't they

24) Choose the option that substitutes the given phrase appropriately.

A doctor who specializes in the treatment of children
1. Obstetrician

2. Entomologist

3. Pediatrician

4, Gemologist

Correct Answer :-

* Pediatrician

25) Choose the correct word to complete the given sentence.

My brother and _____are going to spend _____ vacation at a seaside resort.
1. they, theirs

2. he, his

3. me, its

4.1, our

Correct Answer :-

26) Choose the appropriate tenses to fill in the blanks in the given sentence:

Every day, the dog at the gate and the gatekeeper him.
1. wait, feed
2. waits, feeds

3. has waited, feeds
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4. is waiting, is fed

Correct Answer :-

o waits, feeds

27) choose the most suitable option to express the meaning of the sentences combined together.

The wind blew. The lightning splashed. The rain started falling.
1. The wind blew, the lightning splashed but the rain started falling.

2. The wind blew, the lightning splashed while the rain started falling.
3. The wind blew, the lightning splashed when the rain started falling.

4, The wind blew, the lightning splashed and the rain started falling.

Correct Answer :-
» The wind blew, the lightning splashed and the rain started falling.

28) Fill in the blank with the correct option in the given sentence:

An organization wants of its employees.
1. loyal

2. loyalty
3. loyally

4, lawfulness

Correct Answer :-

29) Fill in the blank with the correct option in the given sentence.

My father’s computer is five years old and it needs to be --graded.
1. super-

2. up--

3. down-

4, de--

Correct Answer :-
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30) Change the given statement to indirect speech.
She asked, “"Do you go to school every day?”

1. She asked me that if I went to school every day.

2. She asked me if I went to school every day.

3. She asked that if T go to school every day.

4. She asked that do you go to school every day.

Correct Answer :-

« She asked me if I went to school every day.

Topic:- Sanskrit (SAN)
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